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1. GTelier 3quitenrel ST .
o %o+ g
3 :- 9 37for 18 =T oraTfa= 18
8y = 16/

16 4 _ 20, _ 10
l1ig + "1 = g = g

o S+ i+ Y
3ca - 4, 12 30T 8 =1 w4 = 24
s = Phs Vo = P Plg = Vs

30 34 9, _ 73
loa + “7loa + “loa = log

o 1 1/5 + 3 2/5
Se - (1 +3) + (Vs +Pl05
4 + (1+2)/5 =4 3/5

2. 22/7 + 5 17/21 FBUTS fhdi?
3cal - 7 30T 21 = orafa = 21 30707 25 = Yy

Tt 1 2/21 =8 2/21

3. 6/11 - 11/223-_6"31? Rar?
3ca - 11 30f0r 22 a7 et = 22 300 %4 = %y,

12 11, _ 1
lp2 = "l = 2

4. 7 8/13 -1 14/26 Fgurer fhdr?
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3ok - 13 31for 26 =1 wr@fy = 26 3T 843 = O
(7-1) + ("6 - ) =
6 + (16-14)/26 =6 2/26 =6 1/13

5. 5% x 3 35 wgurar fc?

3eR - 5 Yy = OX DTy = 44

33 = (Bx3)+ 3, - 18,
49/91 X 182/5 = 49 x 2/5 = 98/5

6. 6 6/10 o 2 7/3 o .
3cdX - 6 6/1() = (10x6) + 6)/10 = 66/10
2 7y = Bx2+ 7). - 23
23 _ 8
s T IOMHRIET = ¥/

66 8 _ 66 4
/10 X “l23 = "5 X "/23

_ 264
= s

7. 323+ 4% wFure fd?
St - (3 +.4) + (g + %) =
7 + @2y W% Yy
7+ Y32, 8 T3 (FROT Y3 = 1 )
8. 5 7/qg 3O 8 Vg = VST .
3ok - 18 31fOr 6 =7 or@fd = 18 3oy Vg = %ig
(5+8) + (Chg + 'g) = (5+ 8) + (g + “/g)

13 815 = 13 44

9. 3% & "war 6 "%y AYST o .
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3cal - 7 30T 14 =7 orafa = 14 3007 27 = Y4,
(6 - 3) + (%4 - “1a)

3+ 6/14 =3 6/14 = 33/7

10. 4 Yo & F&ET 7 /3 AU T .

Wi-gm:SﬂTWlﬁ:gmz/;;:G/g
(7 - 4) + (o - )

3 5/9
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